AP Calculus AB

Pre-Calculus Review
Solve each equation.

1) 84 =2n+2(7 - 6n)

3) 7(-4+3n) +3(1 - n) = -25

5) —(6v+5)-5(v+d)=—Tv+v

Solve each equation by factoring.

9) a® - 8a=-7

11) n* =4

Name

Date

2) 8(6 +3b) = 168

4y 7(=2 + 2m) + 2(4m - 8) = 36

6) S(x +4) = Sop =3 =7

11
8) —ﬂ +n =—(—3n +§)
25 5 5

10) 7m* + 49m = -84

12) k* =13k -42




Solve each equation. Round your answers to the nearest ten-thousandth.

25) 12" '+ 8 =42 . 26) 117" +9 =23

Solve each equation.

27) 67 2= 6 1\™"?
) 6 28) (E) = 243>

Evaluate each function.

29) K(x) = x + 2; Find 4(8) 30) w(x) = -3|2x|; Find w(~7)
31) g(x) = -x? + 4x; Find g(-2) 32) w(n) = -3 - 57" Find w(-1)
33) fln) =327+ 2; Find f(-1) 34) gle) = 7 - 41; Find ¢(-7)
35) k(x) = |-2x - 3|; Find K(2) 36) h(n) = n® - 2n; Find h(-5)




13) 35b% +329b = =392 14) 9n* - 69n = -120

Solve each equation by taking square roots.

15) 9p* +8=-43 16) 5b* -2 =243

Solve each equation with the quadratic formula.

17) -2v* +3=v 18) —-5a* +3a=1

19) 8k* =2k + 4 20) -b* +23 =-6b

Solve each equation. Remember to check for extraneous solutions.

21) Va-1=+21-a 22) 3=~dr -7

~ Solve each equation.

23) |-10x - 9| = 69 24) [8x - 4] =36

-



- Find w(z) 38) glr) = 1> - 61; Find g(-41)

37) wlx) = =|x+3

39) Al(x) = x* + 3; Find h(-2 - x) 40) f(x)=x*-4; Find f(~1 + x)

Perform the indicated operation.

41) hla) = 4a -5 42) flx) = -3x% - 4x
g(a)=4a—3 g(x)=3x+1
Find h( g(a)) Find f (r) + g(x)

43) flx)=x-2 44 gln)=-n+3
g(x)=x+1 hn)=-n->5
Find 7(-6) + g(-6) Find g(3) - 4(3)

45) glx)=x+3 46) h(x)=3x-5
h(x) =x’ -2 g(x) = -2x% +2x
Find g(3x> . h(3x) Find h(g(x - 1))

Find the exact value of each trigonometric function.

3 3
47y cse X 48) cot 2=
4 4



50) t
49) sec% ) tan0

51) sin — 52) cos —
6 2

Write the slope-intercept form of the equation of each line.

53) 54)

Ay Ay

N
)
I
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=Y

Write the slope-intercept form of the equation of the line through the given point with the given
slope.

4 56) through: (-1, -1), slope =3
55) through: (5, 2), slopezg ) throug ( ) slope

Write the slope-intercept form of the equation of the line through the given points.

57) through: (—1, 1) and (4, —4) 58) through: (O, ~2) and (3, 5)



Write the slope-intercept form of the equation of the line described.

59) through: (-4 lel = - 2
) through: (-4, 3). parallel to y = —x 60) through: (5, 3), parallel to y = gx +4

Sketch the graph of each line.

1) dx+y=-
o) Az p=—af 62)y=—§x—2
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Graph each equation.

63) y=|x+3|+3 64) y=|x+4|+3
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Sketch the graph of each function.

65) flx)=-5-2"-1
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Graph each function using radians.

1 0 = 6 2xn
69 =—-sin|l—+—|-1 70 =cos|—+—|+2
)y 2 2 4 )y 4 3
Ay Ay
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For exercises 7/- 26, ejther complete
the +able of ﬁncﬁ'm vadues or find #he
Func hon \[4,041—35~

H, f)=x2-3
Irx —2 | -1 ‘ ol 1] 2 ]
| 7 | |
25 &= Ji=3
:’ . 3 04| 5] 6 7ﬁ§
e |
73 () = 3]t + 3]
; ¢ 5| 4| =3] 2 ’ ~1]
I )
2y =22
| s 01|33 ’ 4 {
| f(s) ' f
[
_[x2+ 2, x <1
75. f(x)—{2x2+2, x> 1
@ f(=2) ) (1) (©) f(2)

3x—=1, x< -1
7‘, fx) = y4, —l1<x<1
X2, x> 1

(@) f(-2) ®) f(-3) © f3)

For exefcises 77 and 28 caley )ade Fhe
olv‘#;fenoc Z,u.oy‘r'c«f, @ K.a.fhe average
Cate of change or +he slope.

fQ2+h) -1
h
5+ h) —f(5)
h

77 &) =x*—x+1, Lh#0

;f flx) = 5x — x2, L h#0

. Average Salary The graph shows the average salaries for
al senior high school principals from 1990 through 2002.

Fdiiraticngl Pevasteh Qarvipa)
(Source: Educational Reseaich Service)
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Q. CQ[w»Qo.k Hie a.Vc{‘a-je rate of

o‘F 5aJo.r.e5

Ckwnje,‘/ﬂr Senior /niyk scha
principals over the Fiest decade.
Tnclude preper units.
b. Infer pred the average rate of
Chaﬂje found v par? (@),

- wf\l)"c 7“‘\& e
Secant liae over He 4irs - decade.

o of Hhe

50.
Road Grade From the top of a mountain road, a
surveyor takes several horizontal measurements x and
several vertical measurements ¥, as shown in the table (x
and y are measured in feet).
‘x 300 | 600 | 900 ; 1200 | 1500 | 1800 | 2100 |
ry =25 | =50 | —-75 ‘ =100 | —125 | —150 l —175

a. C%/Cﬂ[a#"ﬁ +he QVE(qje rafe a7£

Change of the vertical height
when the hori zon tad hijlq‘: (s
1R00 Feet by asing 2300 and
X= (R00. Tnclude proper units.

b. Repect pary Q u.jl"v X2 900 anol
Xz 1200, Tnclude proper anits



